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Quiz Date: 13th April 2020 

Directions (1-5): Study the following information carefully and answer the questions 
given below:  
Seven persons were born in the same year but different months January to July. They like 
different types of movies- Horror, Comedy and Action. Atleast two but not more than three 
persons like same type of movie.  A is older than C and likes comedy movie. Only two 
persons born in between G and D who was born in the month have odd number of days. E 
does not like comedy movie.  B was born in May and is younger than C. The one who was 
born in April likes Action movie. F is older than D who does not like Action movie. Only 
three persons were born in between E and F both of them likes same type of movie but not 
action movie.  F is neither second oldest person nor like Action movie. B and D like same 
type of movie. 
 
Q1. Who was born in March? 
(a)  F 
(b) C 
(c) E 
(d) B 
(e) D 
 
Q2. Who among the following likes Action movie? 
(a) G 
(b) E 
(c) B 
(d) F 
(e) D 
 
Q3. F was born in which of the following month? 
(a) January 
(b) March 
(c) June 
(d) February 
(e) April 
 
Q4. Who Among the following is third youngest person? 
(a) C 
(b) D 
(c) F 
(d) B 
(e) G 
 
Q5. How many persons were born after G? 
(a) None 
(b) Two 
(c) Four 
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(d) More than four 
(e) Three 
 
Q6. How many pairs of letters are there in the word ‘CRACKER’, each of which have as 
many letters between them in the word as they have between them in the English 
alphabet? 
(a) One 
(b) Three 
(c) Four 
(d) Two 
(e) None 
 
Q7. Which of the following is the third letter from the right end of the meaningful word 
formed from the second, third, sixth and seventh letters of the word “DECLARATION’? If 
more than one word is formed your answer will be Z? 
(a) C 
(b) E 
(c)  A 
(d) Z 
(e) R 
 
Q8. The position of how many alphabets will remain unchanged if each of the alphabets in 
the word ‘INTERACTIVE’ is arranged in alphabetical order from left to right? 
(a) None 
(b) Two 
(c) One  
(d) Three 
(e) Four 
 
Q9. If in the number “45829673”, 1 is added to each even digit and 2 is subtracted from 
each odd digit then how many digits are repeating in the number thus formed? 
(a) two 
(b) one 
(c) none 
(d) three 
(e) four 
 
Directions (10-12): Read the following information carefully and answer the given 
questions. 
D, L, N, X, W and V are six friends. Each of them has different weight. L is heavier than only 
N. W is lighter than only two people. V is not the heaviest. The difference between the 
weight of third lightest and the lightest person is 12kg. D is heavier than W but is not the 
heaviest. The weight of V is 70 kg. 
 
Q10. How many persons are heavier than V? 
(a) Four 
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(b) Three 
(c) Two 
(d) One 
(e) None of these 
 
Q11. Which of the following statement is true if weight of L is 66 kg? 
(a) The difference between the weight of V and L is 6 kg. 
(b) Weight of W is 65 kg. 
(c) Weight of D is 24 kg. 
(d) The difference between the Weight of L and N is 8 kg. 
(e) None is true 
 
Q12. What could be the possible Weight of W? 
(a) 62 kg 
(b) 66 kg 
(c) 80 kg 
(d) 69 kg 
(e) 59 kg 
 
Q13. Rohit ranked 15th from the top and 23nd from the bottom in a class. How many 
students are there in the class? 
(a) 38 
(b) 39 
(c) 37 
(d) 36 
(e) 40 
 

Q14. Deepak ranked 31st from the bottom and 13th from the top among those who passed 
an exam. six boys did not participate in the exam and four failed in it. How many boys were 
there in the class? 
(a) 54 
(b) 55 
(c) 52 
(d) 53 
(e) 51 
 
Q15. If all the letters in the word “Reasonable” are arranged in alphabetical order from left 
to right in such a way that all vowels are arranged first followed by consonants, then how 
many letters are there in between O and S after the arrangement? 
(a) Two 
(b) One 
(c) None 
(d) Three 
(e) Four 
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Solutions 

 
Solutions (1-5): 
Sol. 

 
S1. Ans.(b) 
S2. Ans.(a) 
S3. Ans.(c) 
S4. Ans.(d) 
S5. Ans.(e) 
 
S6. Ans.(d) 
Sol.  

 
 
S7. Ans.(d) 
Sol. CARE, RACE, ACRE 
 
S8. Ans.(c) 
Sol. Original word- INTERACTIVE 
After arrangement-ACEEIINRTTV 
 
S9. Ans.(d) 
Sol. Original Number- 45829673 
Obtained Number- 53937751 
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Solutions (10-12): 

Sol. 

X > D > W > (70kg) V > L > N(58kg) 

S10. Ans. (b) 

S11. Ans. (d) 

S12. Ans. (c) 

 
S13. Ans(c)  
Number of students in the class= 15+23-1=37 
 
S14. Ans(d) 
Number of boys who passed = (31 + 13 - 1) = 43 
∴ Total number of boys in the class = (43 + 6 + 4) = 53 
 
S15. Ans(e) 
After arrangement: AAEEOBLNRS 
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